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1 T EBK 1 |Eli EEIR 4 71 315[45.0 2
2 T hR K 4 By BHR 4 71 231(33.0 1
3 T hR K 11 |t &5 4 11 351]31.9 0
4 T B F&H - |FLry B 1 14| 368]26.3 1
5 T BHia 39 |miE BR 2 8| 182(22.8 0
6 T BAX 82 B = 1 8| 167[20.9 0
7 T IHK 81 |&H F 1 10| 203]20.3 2
8 T BiAX 45 |HEAR 18 2 15| 292]19.5 0
9 T BEFEX 29 |= = 4 8| 152[19.0 0
10 T BHia 11 [lREX E—H 3 16| 299|18.7 0
11 T IHK 30 [FHr &K 1 13| 221)17.0 0
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1 T EBK 28 |5H# FHH 4 2 86| 43.0 0
2 T BAX 21 |MF 2H 2 3 112(37.3 0
3 T BiAX 84 |fk W& 2 6] 149(24.8 0
4 T BiAX 3 |H/x B 3 4 82| 20.5 0
5 T BAX 3 |ge—7«— Jmyvy|l 3 3 591 19.7 0
6 T EBK 11 |&E &% 2 6] 117/19.5 0
1 T IHK 80 IR AAER 2 3 57/ 19.0 0
1 T EBK 19 |WWHE —iE 4 2 381 19.0 0
9 T BAX 45 (B thiE 1 6] 112[18.7 0
10 T IHK 4 kKB B 1 4 72| 18.0 0
11 T BHa 23 |EE =N 1 5 87| 17.4 0
12 T R F&H 4 |@E)l Kb 4 1 151 15.0 0
13 T hRK 33 [EAM & 4 1 141 14.0 0
14 T BEFEX 7 |#EE K 4 1 131 13.0 0
15 T hRK 3 | B 4 1 12112.0 0
16 T BEFEX 10 [#E #IX 4 2 23| 11.5 0
17 T BEFEX 20 (M B 4 1 10 10.0 0
17 T BHia 28 | |X 4 1 10 10.0 0
17 T BEFEX 33 |HEA KT 2 1 10 10.0 0
17 T BEFEX 85 |WE #HE 2 1 10 10.0 0
21 T BAX 9 |Vvy UIE 3 2 191 9.5 0
22 T BEFEX 14 |5t k& 4 2 18] 9.0 0
23 T BiAX 98 |EX & 3 1 8 8.0 0
24 T EBK 81 |FTHEB RRAX 4 4 28] 1.0 0
25 T hRK 43 [ E—BB 2 3 20| 6.7 0




26 T IHK 32 |lrE EAR 4 2 3| 6.5 0
27 T B H&H 85 |fK K& 4 1 41 4.0 0
28 T BEFEX 19 |M@E& #— 4 1 3| 3.0 0
29 T EBK 82 |=H Kb 4 1 0f 0.0 0
29 T EBK 46 |MhE HEA 3 1 0f 0.0 0
29 T BEFEX 6 [AX e 3 1 0f 0.0 0
29 T BEFEX 84 |FAf Ak 3 1 0f 0.0 0
29 T BEFEX 81 |%H FEX 3 1 0f 0.0 0
29 T BHia 1 |HE &KX 3 1 0f 0.0 0
29 T B F&H 70 |AE EAR 2 1 0f 0.0 0
29 T IHK 48 (#HA RB¥ 2 1 0f 0.0 0




